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QUESTION NO: 1

When default metrics are generated during application execution, the probes:
A. Retain data until agents collect it.

B. Report data directly to the Enterprise Manager.

C. Report data to agents, which in turn pass it to the Enterprise Manager.

D. Report data to agents, which retain it until the Enterprise Manager collects it.
Answer: C

QUESTION NO: 2

What is the name of the .jar file containing the CLW?
A. CLW.jar

B. CLWorkstation.jar

C. CommandLine.jar

D. CommandLineWorkstation.jar

Answer: B

QUESTION NO: 3

Each element in a report template maps to a single:
A. Metric

B. PDF file

C. Dashboard

D. Metric grouping

Answer: A

QUESTION NO: 4

A group of business transactions in a CA Customer Experience Manager (CA CEM) domain is
known as a:

A. business service

B. business transaction

C. transaction parameter

D. transaction component

Answer: A

QUESTION NO: 5

Which type of file stores all items contained in a management module?
A. Zip

B. Package (PKG)

C. Java Archive (JAR)

D. Tape archive (TAR)

Answer: C

QUESTION NO: 6
Significant changes were introduced for CA Customer Experience Manager (CA CEM) version
5.0. A new CA CEM server deployment model is:



A. software only

B. v5.0 appliance only
C. legacy appliance only
D. virtual appliance only
Answer: A

QUESTION NO: 7

In the Dashboard Editor, the palette consists of static content tools and:
A. Data viewers

B. View creators

C. Data view creators

D. Dynamic content tools

Answer: A

QUESTION NO: 8

Which metric type measures the number of incomplete requests during a time interval?
A. Stall Count

B. Instance counts

C. Errors Per Interval

D. Concurrent Invocations

Answer: D

QUESTION NO: 9

Which graph displays the most information within a single view?
A. Dashboard

B. Box-Whisker

C. Defect Pareto

D. Standard Deviation

Answer: B

QUESTION NO: 10
Summary alert S is made up of single alerts 1, 2, and 3. Currently, the states of the alerts are
as follows:

Alert 1: caution

Alert 2: caution

Alert 3: danger

What is the color of alert S?
A. Red

B. White

C. Green

D. Yellow

Answer: A



